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EH R A | T RE | mxmmsan| xmexEmns | frysEan| 2necrsnse IRRES] FAXHEE = e [ETSIEEE BRI B 5t B &t mmsciasie | xpsesaE | 230 E
m/s m/s m/s °c MJ MJ % % %
1:00 | FAFE 74 BALE el 89.5 0 0 0 0 0 0 81.6
2:00[78 kY Ealcai 90.4 0 0 0 0 0 0 81.7
3:00[ 7 i i 90 0 0 0 0 0 0 81.8
4:00|FER i} Fileal] 90.5 0.5 0.5 0 0 0 0 81.9
5:00[Jt FER fii] 90.8 1 15 0 0 0 0 82
6:00[Jt 7 JLEm JLEm 91.1 0 15 0 0 0.03 0.03 82.1
7:00[ & JLE JLE 89.9 0 15 0 0 0.14 0.17 82.2
8:00[ & Jedb s Jedb s 89.9 2 35 0 0 0.17 0.34 82.3
9:00[dt7 1L E[Ac] 89.5 3 0 0 0.32 0.66 82.4
10:00| 5 g fii] 90 3 0 0 0.35 1.01 82.5
11:00[ L8 E[A:ic] E[A:ic] 91.3 7 0 0 0.12 1.13 82.6
12:00|FaEE 74 i} FaFIPe 918 5 0 0 0.06 1.19 82.7
13:00| 5 R HiE 91.5 3 0 0 0.33 1.52 82.8
14.00|FJLE HER HER 88.4 0 0 0 0.55 2.07 82.9
15:00[JL LR Y Y 85.1 0 0 0 0.73 238 82.9
16:00[Jt 7 B[R] Jedb s 83.9 0 0 0 0.47 3.28 82.9
17:00[Jt 7 B[R] B[R] 84 0 0 0 0.44 3.72 82.9
18:00|FI 78 B[R] B[R] 86.2 0 0 0 0.14 3.86 829
19:00[FE 7 il FamIPe 89.9 0 0 0 0 3.86 83
20:00|FIPH [l ek 90.9 0 0 0 0 3.86 83.1
21:00|FE PR ek ek 91.8 0 0 0 0 3.86 83.2
22:00| PRI PR ek ek 92.2 0 0 0 0 3.86 83.3
23:00[dL 7 [ i) E[Ai] 91.7 0 0 0 0 3.86 83.4
24.00:00 | E[Ai] E[Ai] 914 0 0 0 0 3.86 835
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SEHEA | 1 RR | srmmesmn | mnacmmnns | SATHHER HEXHREE NE |BEAE ESEETEE] EMRE
m/s m/s MJ MJ %
T 89.7 82.6
XE e FadLiE ElAic] 92.3 83.5
Fols 22:53 0:00
xIE 825 815
RS 17:46 0:01
BE 0 0 3.85 3.86
BRI B (%)
[ dedesm | dksm | s=dks | Z=@sE | @mx | mamsa | | #Ee | [ dededs [ 4k HEE
AREEES1—)] 15] 8] [ 3.8] 35] . 35| 13.5] 5.7] 35] 26.2]




